
SAP ABAP table VTM_IN_TRANS {Money Market: Inbound Interface: Transaction}

VTM_IN_TRANS

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

RREFKONT [CHAR (8)]

AT10

MANDT [CLNT (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

 VTM_IN_TRANS-SFHAART = AT10-SFHAART 
0..N

0..N

T000

MANDT [CLNT (3)] VTM_IN_TRANS-MANDT = T000-MANDT 0..N

0..N
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTM_IN_TRANS-BUKRS = T001-BUKRS 
0..N0..N

T037S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANTYP [CHAR (1)]

RREFKONT [CHAR (8)]

 VTM_IN_TRANS-RREFKONT = T037S-RREFKONT 

0..N

0..N

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 VTM_IN_TRANS-SGSART = TZPA-GSART 

0..N

0..N


